

## YANG-BAXTER EQUATIONS IN MTL-ALGEBRAS

Tahsin Oner and Tugce Kalkan

ABSTRACT. In this work, we handle set-theoretical solutions of Yang-Baxter equation problem in fundamental algebraic structures. The aim of this paper is to construct new set-theoretical solutions for the Yang-Baxter equation by using MTL-algebra.

### 1. Introduction

The Yang-Baxter equation was primarily given in theoretical physics [12] and in statistical mechanics ([1], [2], [11]). It has been brought about many applications not only these areas but also quantum groups, quantum computing, knot theory, etc. [8]. Recent advances show to us in other areas like as  $C^*$  algebras, Hopf algebras, conformal field theory, etc. clarify the importance of the equation. Many authors have taken advantage of the axioms of these algebraic structures to sort out this equation. We want to observe the Yang-Baxter equation in associated with MTL-algebras.

Oner and Kalkan have constructed a new set-theoretical solutions to the Yang-Baxter equation using BL-algebras [15], and Wasjberg Algebras [14].

All sorts of fuzzy logical algebras have been widely identified and analysed, for example, MV-algebras [3], BL-algebras [5] and NM-algebras [4]. Between these algebras, MTL-algebras are the most important since the others are special conditions of MTL-algebras. Therefore, MTL-algebras play a crucial role in studying fuzzy logics and their relevant structures.

In this paper, we examine the Yang-Baxter equation in relation with MTL-algebra. We give fundamental definitions and theorems of MTL-algebras and give some solutions of the set-theoretical Yang-Baxter equation in MTL-algebras.

---

2010 *Mathematics Subject Classification.* 16T25; 03G10; 05C25; 05E40; 06D35; 03G25.

*Key words and phrases.* Yang-Baxter equation, MTL-algebras, IMTL-algebra, Gödel algebra.

## 2. Preliminaries

The following fundamental notions are taken from [16].

DEFINITION 2.1. An algebraic structure  $\mathcal{L} = (L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  of type  $(2, 2, 2, 2, 0, 0)$  is called an MTL-algebra if it satisfies the following conditions:

- (a)  $\mathcal{L}$  is a bounded lattice,
- (b)  $(L, \odot, 1)$  is a commutative monoid,
- (c)  $s_1 \odot s_2 \leq s_3$  if and only if  $s_1 \leq s_2 \rightarrow s_3$ ,
- (d)  $(s_1 \rightarrow s_2) \vee (s_2 \rightarrow s_1) = 1$ , for any  $s_1, s_2, s_3 \in L$ .

For any  $s \in L$  and a natural number  $n$ , we define

$$\neg s = s \rightarrow 0, \neg\neg s = \neg(\neg s), s^0 = 1 \text{ and } s^n = s^{n-1} \odot s \text{ for all } n \geq 1.$$

Let  $\mathcal{L} = (L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra, unless otherwise is stated.

PROPOSITION 2.1. In every MTL-algebra  $\mathcal{L} = (L, \wedge, \vee, \odot, \rightarrow, 0, 1)$ , the following hold for all  $s \in L$ :

- (1)  $(s \rightarrow 0) \rightarrow 0 = s$ ,
- (2)  $s \rightarrow s = 1, 1 \rightarrow s = s, s \rightarrow 1 = 1$ ,
- (3)  $\neg s = \neg\neg\neg s$ ,
- (4)  $1 \odot s = s, s \odot 0 = 0$ ,
- (5)  $\neg 0 = 1, \neg 1 = 0$ .

DEFINITION 2.2. Let  $\mathcal{L} = (L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra. Then  $\mathcal{L}$  is called

- (a) a Gödel algebra if  $s_1 \odot s_2 = s_1 \wedge s_2 = s_1 \odot (s_1 \rightarrow s_2)$  for any  $s_1, s_2 \in L$ ,
- (b) an IMTL-algebra if  $\neg\neg s = s$  for any  $s \in L$ .

## 3. Solutions to the Yang-Baxter Equation in MTL-Algebras

In this paper, we present some results in connection with the (set-theoretical) Yang-Baxter equation in MTL-algebras.

Let  $V$  be a vector space over a field  $F$ , which is algebraically closed and of characteristic zero.

DEFINITION 3.1. ([9]) A linear automorphism  $\varphi$  of  $V \otimes V$  is a solution of the Yang-Baxter equation, if the following equality holds in the automorphism group of  $V \otimes V \otimes V$ :

$$(3.1) \quad (\varphi \otimes id_V) \circ (id_V \otimes \varphi) \circ (\varphi \otimes id_V) = (id_V \otimes \varphi) \circ (\varphi \otimes id_V) \circ (id_V \otimes \varphi).$$

In the following definitions  $\varphi^{nm}$  means  $\varphi$  acting on the  $n$ -th and  $m$ -th component.

DEFINITION 3.2. ([10])  $\varphi$  is a solution of the Yang-Baxter equation if

$$(3.2) \quad \varphi^{12} \circ \varphi^{23} \circ \varphi^{12} = \varphi^{23} \circ \varphi^{12} \circ \varphi^{23},$$

DEFINITION 3.3. ([9])  $\varphi$  is a solution of the quantum Yang-Baxter equation if

$$(3.3) \quad \varphi^{12} \circ \varphi^{13} \circ \varphi^{23} = \varphi^{23} \circ \varphi^{13} \circ \varphi^{12}.$$

Let  $T$  be the twist map  $T : V \otimes V \rightarrow V \otimes V$  defined by  $T(u \otimes v) = v \otimes u$ . Then,  $\varphi$  satisfies (3.2) if and only if  $\varphi \circ T$  satisfies (3.3) if and only if  $T \circ \varphi$  satisfies (3.3).

A connection between the set-theoretical Yang-Baxter equation and MTL-algebras is constituted by the following definition.

DEFINITION 3.4. ([10]) Let  $X$  be a set and  $\varphi : X^2 \rightarrow X^2, \varphi(p, q) = (p', q')$  be a map. The map  $\varphi$  is a solution for the set-theoretical Yang-Baxter equation if it satisfies (3.2), which is also equivalent to (3.3), where

$$\begin{aligned} \varphi^{12} : X^3 &\rightarrow X^3, & \varphi^{12}(s_1, s_2, s_3) &= (s'_1, s'_2, s_3), \\ \varphi^{23} : X^3 &\rightarrow X^3, & \varphi^{23}(s_1, s_2, s_3) &= (s_1, s'_2, s'_3), \\ \varphi^{13} : X^3 &\rightarrow X^3, & \varphi^{13}(s_1, s_2, s_3) &= (s'_1, s_2, s'_3). \end{aligned}$$

Now we construct solutions to the set theoretical Yang-Baxter equation by using MTL-algebras.

LEMMA 3.1. Let  $\mathcal{L} = (L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra. Then the following are a solution of the set-theoretical Yang-Baxter equation:

- (a)  $\varphi(s_1, s_2) = (s_1 \odot 1, s_2 \odot 1)$ ,
- (b)  $\varphi(s_1, s_2) = ((1 \odot (s_1 \rightarrow 0)) \rightarrow 0, (1 \odot (s_2 \rightarrow 0)) \rightarrow 0)$ ,
- (c)  $\varphi(s_1, s_2) = (((s_1 \rightarrow 0) \odot (s_2 \rightarrow 0)) \rightarrow 0, 0)$ ,
- (d)  $\varphi(s_1, s_2) = (s_2 \odot s_1, 1)$ ,
- (e)  $\varphi(s_1, s_2) = (s_1 \odot s_2, 1)$ .

PROOF. The proofs of (a) and (b) are clear.  
 (c) We define

$$\begin{aligned} \varphi^{12}(s_1, s_2, s_3) &= (((s_1 \rightarrow 0) \odot (s_2 \rightarrow 0)) \rightarrow 0, 0, s_3), \\ \varphi^{23}(s_1, s_2, s_3) &= (s_1, ((s_2 \rightarrow 0) \odot (s_3 \rightarrow 0)) \rightarrow 0, 0). \end{aligned}$$

For all  $(s_1, s_2, s_3) \in L^3$ , using Proposition 2.1 (1), (2) and (4) we have

$$\begin{aligned} (\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})(s_1, s_2, s_3) &= \varphi^{12}(\varphi^{23}(\varphi^{12}(s_1, s_2, s_3))) \\ &= \varphi^{12}(\varphi^{23}(((s_1 \rightarrow 0) \odot (s_2 \rightarrow 0)) \rightarrow 0, 0, s_3)) \\ &= \varphi^{12}(((s_1 \rightarrow 0) \odot (s_2 \rightarrow 0)) \rightarrow 0, ((0 \rightarrow 0) \odot (s_3 \rightarrow 0)) \rightarrow 0, 0) \\ &= \varphi^{12}(((s_1 \rightarrow 0) \odot (s_2 \rightarrow 0)) \rightarrow 0, s_3, 0) \\ &= ((((((s_1 \rightarrow 0) \odot (s_2 \rightarrow 0)) \rightarrow 0) \rightarrow 0) \odot (s_3 \rightarrow 0)) \rightarrow 0, 0, 0) \\ &= (((((s_1 \rightarrow 0) \odot (s_2 \rightarrow 0)) \odot (s_3 \rightarrow 0)) \rightarrow 0, 0, 0) \end{aligned}$$

and

$$\begin{aligned}
(\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) &= \varphi^{23}(\varphi^{12}(\varphi^{23}(s_1, s_2, s_3))) \\
&= \varphi^{23}(\varphi^{12}(s_1, ((s_2 \rightarrow 0) \odot (s_3 \rightarrow 0)) \rightarrow 0, 0)) \\
&= \varphi^{23}(((s_1 \rightarrow 0) \odot (((s_2 \rightarrow 0) \odot (s_3 \rightarrow 0)) \rightarrow 0) \rightarrow 0)) \rightarrow 0, 0, 0) \\
&= (((s_1 \rightarrow 0) \odot ((s_2 \rightarrow 0) \odot (s_3 \rightarrow 0))) \rightarrow 0, ((0 \rightarrow 0) \odot (0 \rightarrow 0)) \rightarrow 0, 0) \\
&= (((s_1 \rightarrow 0) \odot ((s_2 \rightarrow 0) \odot (s_3 \rightarrow 0))) \rightarrow 0, 0, 0).
\end{aligned}$$

Since  $(L, \odot, 1)$  is a commutative monoid, it is a solution.

(d)  $\varphi^{12}$  and  $\varphi^{23}$  are defined by

$$\begin{aligned}
\varphi^{12}(s_1, s_2, s_3) &= (s_2 \odot s_1, 1, s_3), \\
\varphi^{23}(s_1, s_2, s_3) &= (s_1, s_3 \odot s_2, 1).
\end{aligned}$$

For all  $(s_1, s_2, s_3) \in L^3$ , by using Proposition 2.1 (4), we get

$$\begin{aligned}
(\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})(s_1, s_2, s_3) &= \varphi^{12}(\varphi^{23}(\varphi^{12}(s_1, s_2, s_3))) \\
&= \varphi^{12}(\varphi^{23}(s_2 \odot s_1, 1, s_3)) \\
&= \varphi^{12}(s_2 \odot s_1, s_3 \odot 1, 1) \\
&= \varphi^{12}(s_2 \odot s_1, s_3, 1) \\
&= (s_3 \odot (s_2 \odot s_1), 1, 1)
\end{aligned}$$

and

$$\begin{aligned}
(\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) &= \varphi^{23}(\varphi^{12}(\varphi^{23}(s_1, s_2, s_3))) \\
&= \varphi^{23}(\varphi^{12}(s_1, s_3 \odot s_2, 1)) \\
&= \varphi^{23}((s_3 \odot s_2) \odot s_1, 1, 1) \\
&= ((s_3 \odot s_2) \odot s_1, 1, 1).
\end{aligned}$$

Since  $(L, \odot, 1)$  is a commutative monoid, it is a solution, as required.

(e) The proof is similar to (d). □

**THEOREM 3.1.** *Let  $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra. If the MTL-algebra is a Gödel algebra, then  $\varphi(s_1, s_2) = (s_2 \odot s_1, s_1)$  is a solution of the set-theoretical Yang-Baxter equation.*

**PROOF.** We define

$$\begin{aligned}
\varphi^{12}(s_1, s_2, s_3) &= (s_2 \odot s_1, s_1, s_3), \\
\varphi^{23}(s_1, s_2, s_3) &= (s_1, s_3 \odot s_2, s_2).
\end{aligned}$$

By using Definition 2.1 (b) and Definition 2.2 (a), for all  $(s_1, s_2, s_3) \in L^3$ , we obtain

$$\begin{aligned}
 (\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})(s_1, s_2, s_3) &= \varphi^{12}(\varphi^{23}(\varphi^{12}(s_1, s_2, s_3))) \\
 &= \varphi^{12}(\varphi^{23}(s_2 \odot s_1, s_1, s_3)) \\
 &= \varphi^{12}(s_2 \odot s_1, s_3 \odot s_1, s_1) \\
 &= ((s_3 \odot s_1) \odot (s_2 \odot s_1), s_2 \odot s_1, s_1) \\
 &= ((s_3 \odot s_2) \odot (s_1 \odot s_1), s_2 \odot s_1, s_1) \\
 &= ((s_3 \odot s_2) \odot s_1, s_2 \odot s_1, s_1)
 \end{aligned}$$

and

$$\begin{aligned}
 (\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) &= \varphi^{23}(\varphi^{12}(\varphi^{23}(s_1, s_2, s_3))) \\
 &= \varphi^{23}(\varphi^{12}(s_1, s_3 \odot s_2, s_2)) \\
 &= \varphi^{23}((s_3 \odot s_2) \odot s_1, s_1, s_2) \\
 &= ((s_3 \odot s_2) \odot s_1, s_2 \odot s_1, s_1).
 \end{aligned}$$

Since the MTL- algebra is a Gödel algebra, it is a solution.  $\square$

**COROLLARY 3.1.** *Let  $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra. The following are solutions to the set-theoretical Yang-Baxter equation in MTL-algebras since the  $(L, \odot, 1)$  is a commutative monoid:*

- (a)  $\varphi(s_1, s_2) = (s_1 \odot s_2, s_1)$ ,
- (b)  $\varphi(s_1, s_2) = (s_2 \odot s_1, s_2)$ ,
- (c)  $\varphi(s_1, s_2) = (s_1 \odot s_2, s_2)$ .

**LEMMA 3.2.** *Let  $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an IMTL-algebra. Thus  $\varphi(s_1, s_2) = (\neg s_2, \neg s_1)$  is a solution of the set-theoretical Yang-Baxter equation.*

**PROOF.** We define  $\varphi^{12}$  and  $\varphi^{23}$  as follows:

$$\begin{aligned}
 \varphi^{12}(s_1, s_2, s_3) &= (\neg s_2, \neg s_1, s_3), \\
 \varphi^{23}(s_1, s_2, s_3) &= (s_1, \neg s_3, \neg s_2).
 \end{aligned}$$

For all  $(s_1, s_2, s_3) \in L^3$  we have

$$\begin{aligned}
 (\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})(s_1, s_2, s_3) &= \varphi^{12}(\varphi^{23}(\varphi^{12}(s_1, s_2, s_3))) \\
 &= \varphi^{12}(\varphi^{23}(\neg s_2, \neg s_1, s_3)) \\
 &= \varphi^{12}(\neg s_2, \neg s_3, \neg \neg s_1) \\
 &= (\neg \neg s_3, \neg \neg s_2, \neg \neg s_1) \\
 &= (s_3, s_2, s_1)
 \end{aligned}$$

and

$$\begin{aligned}
 (\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) &= \varphi^{23}(\varphi^{12}(\varphi^{23}(s_1, s_2, s_3))) \\
 &= \varphi^{23}(\varphi^{12}(s_1, \neg s_3, \neg s_2)) \\
 &= \varphi^{23}(\neg \neg s_3, \neg s_1, \neg s_2) \\
 &= (\neg \neg s_3, \neg \neg s_2, \neg \neg s_1) \\
 &= (s_3, s_2, s_1).
 \end{aligned}$$

□

LEMMA 3.3. *Let  $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra. Then the following are solutions of the set-theoretical Yang-Baxter equation:*

- (a)  $\varphi(s_1, s_2) = (\neg\neg s_1, s_2)$ ,  
 (b)  $\varphi(s_1, s_2) = (\neg\neg s_1, s_1)$ .

PROOF. (a) We define

$$\begin{aligned}\varphi^{12}(s_1, s_2, s_3) &= (\neg\neg s_1, s_2, s_3), \\ \varphi^{23}(s_1, s_2, s_3) &= (s_1, \neg\neg s_2, s_3).\end{aligned}$$

By using Proposition 2.1 (3), for all  $(s_1, s_2, s_3) \in L^3$ , we obtain

$$\begin{aligned}(\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})((s_1, s_2, s_3)) &= \varphi^{12}(\varphi^{23}(\varphi^{12}(s_1, s_2, s_3))) \\ &= \varphi^{12}(\varphi^{23}(\neg\neg s_1, s_2, s_3)) \\ &= \varphi^{12}(\neg\neg s_1, \neg\neg s_2, s_3) \\ &= (\neg\neg\neg\neg s_1, \neg\neg s_2, s_3) \\ &= (\neg\neg s_1, \neg\neg\neg\neg s_2, s_3)\end{aligned}$$

and

$$\begin{aligned}(\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) &= \varphi^{23}(\varphi^{12}(\varphi^{23}(s_1, s_2, s_3))) \\ &= \varphi^{23}(\varphi^{12}(s_1, \neg\neg s_2, s_3)) \\ &= \varphi^{23}(\neg\neg s_1, \neg\neg s_2, s_3) \\ &= (\neg\neg s_1, \neg\neg\neg\neg s_2, s_3).\end{aligned}$$

Therefore, it is a solution.

- (b) It is similar to (a). □

LEMMA 3.4. *Let  $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra. Then  $\varphi(s_1, s_2) = ((s_2 \rightarrow 0) \odot 1, (s_1 \rightarrow 0) \odot 1)$  is a solution of the set-theoretical Yang-Baxter equation.*

PROOF. The proof is obtained from Proposition 2.1 (1) and (3). □

EXAMPLE 3.1. Let  $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra, where  $L = \{0, a, 1\}$ . We define  $\rightarrow$  and  $\odot$  by the following Cayley tables: Then  $\varphi(s_1, s_2) = ((s_2 \rightarrow$

$\rightarrow$	0	a	1	$\odot$	0	a	1
0	1	1	1	0	0	0	0
a	a	1	1	a	0	0	a
1	0	a	1	1	0	a	1

$) \odot s_1, 0)$  is a solution of the set-theoretical Yang-Baxter equation in MTL-algebra.

PROOF.  $\varphi^{12}$  and  $\varphi^{23}$  are defined as follows:

$$\begin{aligned}\varphi^{12}(s_1, s_2, s_3) &= ((s_2 \rightarrow 0) \odot s_1, 0, s_3), \\ \varphi^{23}(s_1, s_2, s_3) &= (s_1, ((s_3 \rightarrow 0) \odot s_2, 0).\end{aligned}$$

By using Proposition 2.1 (2) and (4), we get

$$\begin{aligned}
 (\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})(s_1, s_2, s_3) &= \varphi^{12}(\varphi^{23}(\varphi^{12}(s_1, s_2, s_3))) \\
 &= \varphi^{12}(\varphi^{23}((s_2 \rightarrow 0) \odot s_1, 0, s_3)) \\
 &= \varphi^{12}((s_2 \rightarrow 0) \odot s_1, (s_3 \rightarrow 0) \odot 0, 0) \\
 &= \varphi^{12}((s_2 \rightarrow 0) \odot s_1, 0, 0) \\
 &= ((0 \rightarrow 0) \odot ((s_2 \rightarrow 0) \odot s_1), 0, 0) \\
 &= ((s_2 \rightarrow 0) \odot s_1, 0, 0)
 \end{aligned} \tag{5}$$

and

$$\begin{aligned}
 (\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) &= \varphi^{23}(\varphi^{12}(\varphi^{23}(s_1, s_2, s_3))) \\
 &= \varphi^{23}(\varphi^{12}(s_1, (s_3 \rightarrow 0) \odot s_2, 0)) \\
 &= \varphi^{23}(((s_3 \rightarrow 0) \odot s_2) \rightarrow 0) \odot s_1, 0, 0) \\
 &= (((s_3 \rightarrow 0) \odot s_2) \rightarrow 0) \odot s_1, (0 \rightarrow 0) \odot 0, 0) \\
 &= (((s_3 \rightarrow 0) \odot s_2) \rightarrow 0) \odot s_1, 0, 0).
 \end{aligned} \tag{6}$$

Since the equation (5) is equal to equation (6) for all  $(s_1, s_2, s_3) \in L$ , we get  $\varphi(s_1, s_2) = ((s_2 \rightarrow 0) \odot s_1, 0)$  is a solution in this MTL-algebra, but it is not in MTL-algebras.  $\square$

Similarly,  $\varphi(s_1, s_2) = (0 \rightarrow (s_2 \odot s_1), s_1)$  and  $\varphi(s_1, s_2) = ((s_1 \odot (s_2 \rightarrow 0)) \rightarrow 0, s_1)$  are also solutions for MTL-algebra in Example 3.1 whereas they are not solutions in MTL-algebras.

EXAMPLE 3.2. Notice that the map  $\varphi(s_1, s_2) = (s_1 \rightarrow s_2, s_1)$  is a solution to the set-theoretical Yang-Baxter equation in Boolean algebras [7] while it is not a solution in Wajsberg algebra [14] and also in MTL-algebras. Since

$$\begin{aligned}
 (\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})(s_1, s_2, s_3) &= \varphi^{12}(\varphi^{23}(\varphi^{12}(s_1, s_2, s_3))) \\
 &= \varphi^{12}(\varphi^{23}(s_1 \rightarrow s_2, s_1, s_3)) \\
 &= \varphi^{12}(s_1 \rightarrow s_2, s_1 \rightarrow s_3, s_1) \\
 &= ((s_1 \rightarrow s_2) \rightarrow (s_1 \rightarrow s_3), s_1 \rightarrow s_2, s_1)
 \end{aligned}$$

and

$$\begin{aligned}
 (\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) &= \varphi^{23}(\varphi^{12}(\varphi^{23}(s_1, s_2, s_3))) \\
 &= \varphi^{23}(\varphi^{12}(s_1, s_2 \rightarrow s_3, s_2)) \\
 &= \varphi^{23}(s_1 \rightarrow (s_2 \rightarrow s_3), s_1, s_2) \\
 &= (s_1 \rightarrow (s_2 \rightarrow s_3), s_1 \rightarrow s_2, s_1)
 \end{aligned}$$

We get  $\varphi^{12} \circ \varphi^{23} \circ \varphi^{12}(s_1, s_2, s_3) \neq \varphi^{23} \circ \varphi^{12} \circ \varphi^{23}(s_1, s_2, s_3)$ . If we define  $s_1 \rightarrow (s_2 \rightarrow s_3) = (s_1 \rightarrow s_2) \rightarrow (s_1 \rightarrow s_3)$ , then  $\varphi(s_1, s_2) = (s_1 \rightarrow s_2, s_1)$  is a solution in MTL-algebras.

PROPOSITION 3.1 ([6]). *MTL-algebras are distributive lattices.*

LEMMA 3.5. *Let  $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra. Then  $\varphi(s_1, s_2) = (s_1 \wedge s_2, s_1 \vee s_2)$  is a solution of the set-theoretical Yang-Baxter equation.*

PROOF. It is easy to get the proof by using Proposition 3.1.  $\square$

EXAMPLE 3.3.  $\varphi(s_1, s_2) = (s_1 \wedge s_2, s_1 \vee s_2)$  is a solution of the set-theoretical Yang-Baxter equation in MV-algebras [13] and MTL-algebras from Proposition 3.1 and Lemma 3.5 while it is usually not a solution of the set-theoretical Yang-Baxter equation in Wasjberg-algebras [14].

THEOREM 3.2. *Let  $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$  be an MTL-algebra. If the MTL-algebra is an IMTL-algebra, then  $\varphi(s_1, s_2) = (\neg(\neg s_1 \odot \neg s_2), 0)$  is a solution of the set-theoretical Yang-Baxter equation.*

PROOF. Let  $\varphi^{12}$  and  $\varphi^{23}$  be defined as follows:

$$\begin{aligned}\varphi^{12}(s_1, s_2, s_3) &= (\neg(\neg s_1 \odot \neg s_2), 0, s_3), \\ \varphi^{23}(s_1, s_2, s_3) &= (s_1, \neg(\neg s_2 \odot \neg s_3), 0).\end{aligned}$$

By using Definition 2.2 (b) and Proposition 2.1 (4) and (5), for all  $(s_1, s_2, s_3) \in L^3$  we get

$$\begin{aligned}(\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})(s_1, s_2, s_3) &= \varphi^{12}(\varphi^{23}(\varphi^{12}(s_1, s_2, s_3))) \\ &= \varphi^{12}(\varphi^{23}(\neg(\neg s_1 \odot \neg s_2), 0, s_3)) \\ &= \varphi^{12}(\neg(\neg s_1 \odot \neg s_2), \neg(\neg 0 \odot \neg s_3), 0) \\ &= \varphi^{12}(\neg(\neg s_1 \odot \neg s_2), s_3, 0) \\ &= (\neg(\neg \neg(\neg s_1 \odot \neg s_2) \odot \neg s_3), 0, 0) \\ &= (\neg((\neg s_1 \odot \neg s_2) \odot \neg s_3), 0, 0)\end{aligned}$$

and

$$\begin{aligned}(\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) &= \varphi^{23}(\varphi^{12}(\varphi^{23}(s_1, s_2, s_3))) \\ &= \varphi^{23}(\varphi^{12}(s_1, \neg(\neg s_2 \odot \neg s_3), 0)) \\ &= \varphi^{23}(\neg(\neg s_1 \odot \neg \neg(\neg s_2 \odot \neg s_3)), 0, 0) \\ &= \varphi^{23}(\neg(\neg s_1 \odot (\neg s_2 \odot \neg s_3)), 0, 0) \\ &= (\neg(\neg s_1 \odot (\neg s_2 \odot \neg s_3)), \neg(\neg 0 \odot \neg 0), 0) \\ &= (\neg(\neg s_1 \odot (\neg s_2 \odot \neg s_3)), 0, 0).\end{aligned}$$

Since  $(L, \odot, 1)$  is a commutative monoid,

$$(\varphi^{12} \circ \varphi^{23} \circ \varphi^{12})(s_1, s_2, s_3) = (\varphi^{23} \circ \varphi^{12} \circ \varphi^{23})(s_1, s_2, s_3) \text{ for all } (s_1, s_2, s_3) \in L^3.$$

Therefore, if the MTL-algebra is an IMTL-algebra then  $\varphi(s_1, s_2) = (\neg(\neg s_1 \odot \neg s_2), 0)$  is a solution in MTL-algebras.  $\square$



## References

- [1] R. J. Baxter. *Exactly solved models in statistical mechanics*. Academy Press, London, UK, 1982.
- [2] R. J. Baxter. Partition function of the eight-vertex lattice model. *Annals of Physics*, **70**(1)(1972), 193–228.
- [3] C. C. Chang. Algebraic analysis of many-valued logic. *Trans. Am. Math. Soc.*, **88**(2)(1958), 467–490.
- [4] F. Esteva and L. Godo. Monoidal t-norm based logic: towards a logic for left-constitutive-norms. *Fuzzy Sets Syst.*, **124**(3)(2001), 271–288.
- [5] P. Hájek. *Mathematics of fuzzy logic*. Kluwer Academic Publishers, Dordrecht, 1998.
- [6] L. C. Holdon, L. M. Nitu and G. Chiriac. Distributive residuated lattices. *An. Univ. Craiova, Ser. Mat. Inf.*, **39**(1)(2012), 100–109.
- [7] S. Marcus and F. F. Nichita. On transcendental numbers: New results and a little history. *Axioms*, **7**(1)(2018), article 15, pp. 1-7.
- [8] F. F. Nichita (Ed.). Hopf Algebras, quantum groups and YangBaxter equations. *Axioms*, special issue. ISBN 978-3-03897-325-6  
Available online: [http://www.mdpi.com/journal/axioms/special.issues/hopf\\_algebras.2014](http://www.mdpi.com/journal/axioms/special.issues/hopf_algebras.2014).
- [9] F. F. Nichita. Introduction to the YangBaxter equation with open problems. *Axioms*, **1**(1)(2012), 33–37.
- [10] F. F. Nichita. Yang-Baxter equations, computational methods and applications. *Axioms*, **4**(4)(2015), 423–435.
- [11] C. N. Yang. Some exact results for the many-body problem in one dimension with repulsive delta-function interaction. *Phys. Rev. Lett.*, **19**(23)(1967), 1312–1315.
- [12] J. H. H. Perk and Y. Au-Yang. Yang-Baxter equations. In: J.-P. Francoise, G. L. Naber and S. T. Tsou (Eds.). *Encyclopedia of Mathematical Physics* (Vol. 5, pp. 465–473). Elsevier, Oxford, UK, 2006.
- [13] T. Oner, I. Senturk and G. Oner. An independent set of axioms of MV-algebras and solutions of the set-theoretical Yang-Baxter equation. *Axioms*, **6**(3)(2017), article 17, pp. 1-9
- [14] T. Oner and T. Katican. On solutions to the set-theoretical Yang-Baxter equation in Wasjberg-algebras. *Axioms*, **7**(1)(2018), article 6, pp. 1-13.
- [15] T. Oner and T. Katican. On solution to the set-theoretical Yang-Baxter equation via BL-algebras. *Bull. Int. Math. Virtual Inst.*, **9**(2)(2019), 207–217.
- [16] J. T. Wang, P. F. He and A. B. Saeid. Stabilizers in MTL-algebras. *J. Intell. Fuzzy Syst.*, **35**(1)(2018), 717–727.

Received by editors 03.05.2019; Revised version 22.05.2019; Available online 03.06.2019.

T. ONER: EGE UNIVERSITY, DEPARTMENT OF MATHEMATICS, IZMIR, TURKEY  
E-mail address: [tahsin.oner@ege.edu.tr](mailto:tahsin.oner@ege.edu.tr)

T. KALKAN: EGE UNIVERSITY, DEPARTMENT OF MATHEMATICS, IZMIR, TURKEY  
E-mail address: [tugcekalkan92@gmail.com](mailto:tugcekalkan92@gmail.com)